1/1/2021

b i g 1 J S
pole Jad

Qo gad 9lo j 49 599 o

http://shafieian-education.ir/

4,99 Jov

3090 03 Jo Gl Lyl SladlSuw Judoi 9 w500 (Sl 2he)a8 Gl sd G mw
30T g0 oy 453 Ja 35 ey 130 9 3,135 53 p2)15 plisols (sla i

U o (S ey Ole Wbl Lol 39850 o 25 s 9lite (Sl LS 3990 0> 499 Jo 25
))Bguoi Oloylisl ) 499 (5w

Oloj i 9 b JUSaw (ouilS ) Julond joliio 4 498 Joawd iy 23 sl (ol 2
b Oslite JUSmw &g 4 Olg5 g0 1) L9litel JLSumw S5 45 Camwl b3 38,8 LT | diawgay
J0 4 B )8 SS 498 (5w eadlio 9 ciles jl 9 8,5 b5 ) Colein sl 09

el Cawd )99




1/1/2021

4,99 B

49399 v s g 4599 Joos Wty
(. +on | 2(0) Yo Ot v b
wshdss: XGo) = | x@eTtdr = e
—0 (S ad J J
< =
1 (*t® ) JUSw Ole sl o9
x(t) = —j X(w)e/®do = ,
2m)_, Oloj 859> 43 uilS 15 5> i
Ny

x(t)LX(jw) = X(jw) =Fx@®)} s x@) =F H{X(w)}

.mbso)'.,_sdhiﬁm-_ﬁﬁbliq),édl)f.zil‘olléglsmlfb«._a_),é‘}g_;;:w

4390 Jiowd (3 o
Trbo ol pis 4> 95 9 poede 95 13 498 s (2l )Sed Ay Oloj 498 (S b wline

|

S cedgue by

9 Gl 39350 X(JW) 4598 Sy 35 (fj;OIX(t)Izdt < ) 39520 55451 b sladlSw 10

j oo|y?(t) —x(®)|?dt =0




1/1/2021

4598 o (1 yRed
Sy 350 Bt

b 18 0 X (1) JUSaw sl 2 bl s S|

UT21x(0)|dE < 00) sty $liae 31 Sl X(£) JiSams 51V
25l 4edl> 39350 Jsb b o)l b )3 oy siwST (539320 slags v’

2bb 4l 39350 Job b oL b > salite Siwgw b bli (539550 3lass v/

Siwgnl bl 5 9l pal s X (1) b Sswrgarl blis 43 jords (wsSze 498 J135) £ (1) s&5T

wlk;.w}ub%wb)w»hw,ub)ﬂy
x(ta™) + x(ta7)

2(ty) = >

4,98 Jow (I 5
Sy 399 Sl g
3515 3979 2K (S XS o (aendii 1) 498 J1 35 3929 8350y byl s ¢ TN

SIS 3ike 35 15 499 Jiawd > e U3 9 S o0 3391 0 1) ks opl &S

Y G Sitad BUS by b byl pb ol 13 50 gliza




4599 Jowd
IOPTIRCNETY PRV TN LW TSP I PRV |53

x(t)y = e “u(t) a>0.

400 ® 3
4.{)’5 d:-_).,a: X(](J)) — f x(t)e—]wtdt = X(jm) = J e_afe_jﬂﬂdt - __1._3*(ﬂ+jW)t
o 0 a+ jo 0
X(jw) = 1 a>0
= 4 a+ jo’ |
X(jo)| = ——— X (jw) = ~tan”" (=
Ja+w T i
. B 1 --------------------- E @
A= o j (Chetaieadl)

1/1/2021



4,99 Jouwd

13991 Cawd s ) i JLSaw 40,99 Joawi 3Jbw

x(t)

x(H) = e M a>0

+1

w90 o3 X(jw) =f oox(t)e"j‘”tdt

—x

+x= 0 %
> X(jw) —J e dHlg wi gp — J et eI dt+J e eI dt
0

| 1 2a

— b =
a— jo a+ jo a’+ w?

S P

X(jm)
2/a

_1/a_l

1/1/2021



1/1/2021

4,98 Joowd
13991 Cawd s ) i JLSaw 40,99 Joawi 3Jbw
x(1) = o(n),
x(£)8(t — tg) = x(to)5(t — to)
4o

+00
)9 st X(jw) = f x(He Iotdt = X(jw) =[ §(ne "' di = 1.

— 00

4,95 Jod
130091 Cawd s ) o) IS 4198 Jo o 3 J 0o
sy ={ L W<T T
0, M > T
400
X(jw) = f x(t)e—Jotdt RS
X(jw)
T : inoT 2T,
= X(jw) =J e i dyt = 23'“:’ L
\TT ‘n'/ =
T T




4,99 Jouwd

13091 Cownd 1) o) IS 198 Jo 35 uSe 2l

_ 1, |w|<W X(j)
X -
(jw) {o, 0| > W
;
1 (t*® )
0= XGwetdo = .
x(t)
1 Y . i
= x(1) = -2;[ e“'dw = sn;r‘:Vt’
-W
W/m
t
-n/W  w/W

4,99 Jouwd

sinc (6)
sin 770 : Sine &
sinc(@) = :
6
e W R W
. . :
s Je 93051 X( j) :J " e gy = pS@T_ 2sineTy _ oT, sinc(le)
T, w T
LA i sin Wt W . (Wt
b Jte 50 x(f) = _LJ g . B Wt, = = — sinc (—)
27 )_w mt Tt T T

1/1/2021



4,99 Jouwd

; ; Sinc Qb
1 1
1 1
i i
| i :
1 1 X3t
: Wyl | a(t)
1 1
: : Wa/m
1 1
1 1 i :
1 1
] 1
: t : —m/Wj /Wy t
i o W, i
: |
1 1
] 1
i i
Xy(jw) ! Xa(iw) ! Xaljw)
1 ! 1] ! 1

| 1 1
] 1
1 1

‘ 1 1

I i : i
* —— 1 1 I g —
W, W, o | W, W, i W Wy

] 1 =
1 1
1 1
1 1
1 1

x(t) = ej‘”ot(LX(ja)) =28 (w — wy)

1 [t .
X(jw) =2n6(w —wy) = x(t) = %J. X(jw)e!®tdw
1 +o00 ) +co )
= ﬁf 2n6(w — wg)e’“tdw = f S(w — wy)e!®tdw

+ o0
= ef‘”otj S(w— wy)dw = e/®ot
— 00
\

J

~

1

1/1/2021



glio SIS sl 9 4399 o

3yl 4.:)99 oo ‘;9 il Ly L;_{')io.b Sl» ';'915 b i o.,)gli.'i.o GLQJL&M»GAJUS)

lS dl> o
+o00
ont FS
x(t) Z apel*?t———aq,
k=—o0
+ 00 +o00
. F
x(t) = z apel*vit—— X(jw) = Z 21a;, 6 (w — kwg)
k=—o00 k=—co

x(t) = ej“’otéX(jw) =216 (w — wq)

wglio G JUSw ol 3 41598 Jovd

:L_aCa.w|)._:|).3)._s_)JS..f&))oA.~'§o.\bol&}dl&ikmq),é‘s)m%|)ab:dm
x(t)

sin kwo T,

mk 'I m I_l | m | m El l'

a, =

L
—2T -T T ~Ty Ty 3
2 2

3391 Cawd s ) JUSmw 498 Jo0s

i 2 sin kw(} T]

r o(w — kwy),

X(jw) =f oox(t)e_j“’tdt = X(jw) =

k=—cr.

1/1/2021



X 2sin kw0T|

X(jw) = > 0@ — ko),
k=—=
X(jw)
T = 4T]
™
I’l1|\\\
{ \
2’1 \\2
/ \
i \
I \
I \
L \
s ." \\ -
—"1"\‘:; "/, * ‘\q A-L ‘t ;I/ f \\‘ _-/’I_“
<3- N l “wp  w l g % P
A / \ /
N s ~ ”

4,99 Jouwd

13991 Cawd s ) i JLSaw 40,99 Joawi 3Jbw

x(t) = sinwyt

: X () = SIN Wot JUSuw 12 493 Sow il o
1 1

a = 535 a1 = T35

25 oY k#1 or -1

X(jw)

ak=0,

400
w/j
X(jw) = z 2ma;, 6 (w — kwg)

k=—o0 wg 1

. 27_[ 0 @o

2j

1/1/2021

10



4,9 Jod
130091 Sy ) o) JUiSaww 4198 Jo o 3 J 0o

x(t) = coswyt
:X(t) = COS Wyt JUSamw Sl 495 S ow il o

1
a|=a..|=§, a; = 0, k#1 or -—1.
X(jo)

X(jw) = Z 2ma;, 8(w — kwg)

p— =]
B —

k=—o0

=18 (w — wo) + TS (w + wp) wo

1/1/2021

4,99 Jouwd

23097 Cansts |y ) i 4098 Lo t Sl

x(t)
l

x(t) = Zx o(t — kT),

1 +T/2 " 1
ay = = d(t)e /"0 dt = —
r I—m T
X(jw) = z 2na,d(w — kwy) = X(jw) = 2?'” Zm 3((,, - 2_;@)
k=—o0 k= —x

11



xo 4+
x() = > 8(t—kT), L, X(jw) = 27'” s S(w— ?)

k=~oo k=00

x(t)

BT -~ 0 T 2T t

—~E | .
3 D—

[

[

l

I

|

[

[

|

|

=i

|

l

|

Qg 9lo ) 49399 oo olg>

1999 b cuols
F
x(t) «— X(jw)

H
5 ax(t) + by(t) «— aX(jw) + bY(jw)
W) «— Y(jw),

3Pl ) S Caols
& .
xt) <> X(jo) 2y x(t — 1g) <> e DX (jw)

x

1 o :
x(t) = Z—EJ_I X(jw)e!"do = x(t —1tp) = 5

+%

J X(jw )ij‘l ln)dw

| [+

= 5_7;]'”’ (€ jcuf[.x(jw))ejw-'dw = S{X(l - f(;)} — e—jw!(,X(jw)

1/1/2021

12



L g o) 4398 Jod ole>
i 3Tl ) s Cunols
x(r) s X(jw) |:> x(t — 1g) «—> e_jm"X(jw)
3:{)((1‘)} - X(jw) = |X(ja))|ej{XU“’)

ff{x({ - [0)} = €_f"”0X(jw) - IX(jw)|ej[<iX(jw)—wr”]

Qg 9lo ) 49399 oo olg>

(Sloj cdu g 391 IS SLwols 8 5,15) 2 Jbo

(t)
(1) = %x.(r —2.5) + x3(f — 2.5), h
o 1
:’]Z‘ .
x1(t)e—— Xi(jw) = siiwic) 1 ?{ :Ia 4 t
F : %4(t)
o (D) Xatjo) = 2002 g ¥ 1 %

e
njw

= &
2 2

e it ool L jSwh sin(w/2) + 2sin(3w/2)
Sl s caols: X(Jjw) = e { -

1/1/2021

13



Qg 9lo ) 49399 oo olg>

; " 3T99 50 )W 3 T9d 30 o>
x(t) > X(jw), T x*(1) «— X*(— jo)

+o & +% ) +® )
X‘(Jw’ = |:J x(r)() Jjwt df:| - [ x*(r)f,]w{ df|:> Xi(_‘]w) = J x*(’)c*_iwldt

-0

if x(t) is real, > X(jw) has conjugate symmetry; ) X(—jw) = X'(jw)  [x(1) real]
Ref{X(jo)t = Re{X(— jo)}

real part of the Fourier transform is an even function of frequency.

X(jo) = Re{X(jw)} + jIm{X(jw)},
In{X(jw)} = —Im{X(— jw)}.

imaginary part is an odd function of frequency.

Qi gn lo) 49399 oo o195
3T99 30 o)W 9 T30 30 Cuols
x(t) = xe(t) + x,(1). ) Fx(n)} = Fxe(0} + Fxo (0},

g [ 8v{x()} <= Re(X(jw)},
x(t) «— X(jw), &> <

| 0d{x(n)} < jImX(jw))

1/1/2021

14



Qg 9lo ) 49399 oo olg>

13991 Cawd ) i JUSmw 495 Ju 3 o yoles il slizuwl b s Jbo
x(t)

x(t) = e, a>0.

+1

at ¥ 1
e “u(t) e —,
a+ jw
x(t) = e-altl — e—a!u(t) 3 eatu(_t) _ z[e"" u(t)';e“ u(_t)]___ 28v{e“"u(t)}.
—d s —at ¥ ]. 3 _ ]. _ 2(1
e “u(t) is real =) &vie "u(t)} «— me[ — jw]|::>xuw) = 2(Re{ — jw] =

Qg 9lo ) 49399 oo olg>

35 5 J1 55! g (5 5 G Cumo >

o : dx(t) 5 . .
x(1) P X(jw), T d;(:t) = é{?j joX(jw)edo T ZE) «— joX(jo).

F t
x(t) «— X(jw), =) J X(T)dT < jLwX(jw) + 7X(0)8(w).

1/1/2021

15



L gnd olo ) 4599 o olg>
132091 a3 ) g5 JUiSamw 499 J235 yolys jl osliwl b 3 Jle
x(t) = u(t)

g(t) = 6(r) — G(jw) = 1.

x() = j gmdr > X(jo) = 292 4 26(0)8(w),

Ja

G(jw) = 1

> X(jo) = —— + m8().
jw

_du(t) S, 1 B
|:> 1) = ar Jw{jw + 778(0))} = 1,

Qg 9lo ) 49399 oo olg>

X(t) 132091 Canwdty 1) 25 JUSmw 4998 Ja 35 s golys Jjl ol b 2 Jlo
1
' t
=
1
glt) = —-x(t). © et 1
d —1 1t § [ ¥t
= ~
Gljw) = (209 pio _ pio 2> X(jw) = L2 4 2608 ().
Sl w Jjw

2sinw 2cosw

| X(jw) = —— — —
G(0) = 0 % Jwr J@

1/1/2021

16



Qwignd lo ) 4398 B olg>
3wl 3 g Flo) Bdwlie
x(1) <-E—> X(jw), |:> x(at) AL %\X(Lw )

a

‘.'F
a=-1 0 x(—t) «— X(—jw).

Qg lo ) 4599 o oles
:@'fsé o>

. 1, ‘t| <T, ¥ : _ 2sinwT

xo(1) =

sinWt 7 . 1, lwl<W
<_>X2(]°'))=[0 Iw{>w

1/1/2021

17



Qg 9lo ) 49399 oo olg>

X1 (jw)

:elf [T o>

Qg 9lo ) 49399 oo olg>

139991 Cawd ) 5 JUiSamw 4099 Js 33 (5895 o5l a3kl b 3l

2
1 + w?’

X(jo) = 15— #0) = e M X(jw) =

e L j B R W e (2 e
€ 2 _,c(1+w2 e*'dw. T 2me \Mvez /¢ do.

271'3_'“" = J (1 itz)e_jmdt. |:> ﬂ:{ ] 312} = 21re'|“’l

-

1/1/2021

18



Qg lo ) 4599 o oles
29U 90 cuol>

S

+00 _ -
X(w) = f x(Deotde T dX;i“’) =J — jtx(t)e i'dt

-

o5 odxGe) | [
= jtx(t) «—— do | el x(1) «— X(j(w — wy))

1 g [@ ‘
| % x(1) + wx(0)8(t) —s l .\'(?T):}"?J
J

Qg 9lo ) 49399 oo olg>

31w b solus

+x +x
x(1) = X(jo), > J Ix(H))?dt = % J 1X(jw)|*dw

—

1/1/2021

19



X(jw)

+vrr

vir/2

E = r Ix(t)]dt

Qg 9lo ) 49399 oo olg>

3991 Cawd s 1) o Oloj 59> bulg ) i 831> OLis 499 sy s jI S5 (sl 0 s Jbo

X(jw)

d
D= Zx0|
= [ Ix(1)|*dt
X(jw) -
I 1 (" 5
vir/2 A LT s 12 _ -
= I X(jo)Pde = 5

X(jw)

E = IJ X(jw) dw =1
) .

9,
&

1/1/2021

20



d
D= —
prial)

=0

d H . .
g(t) = —xm «— jwX(jo) = G(jw).

+00
x(t) = > J X(jw)el*tdo Ty D = 80) = “f Gjwdw Ty D = J joX(jw)dw

X(jo) i

D=0
L
1
/2 - —1 e

Qg 9lo ) 49399 oo olg>

2owel 9 Cuols
x(t) (t)
Lo}
+00
x(t) = e/t — y(t) = H(jjw)e/** H(jw) = j h(t)e /@tdt
’F
L(r = h(r) * x(r) —> Y(]w) = H(jw)X(jw).

1/1/2021

21



Qg o) 4 399 oo ol9o
(oWl Pl Caols
LY

X(1) e

Hi(jw)

=1 Hy(jw)

y() = x(t) * hy (t) * hyp(t)

X(1) -

]

Hy(jw)Holj @) prmmmmmm y(1)

Y(jw) =X(w).H;(jw).H,(jw)

X(t) oy

Ha(jow)

| Hy(jw)

e V(1)

Qg 9lo ) 49399 oo olg>

:Jbo

CIN g NEC

h(t) = 8(t — t)). T H(jw) = e /0.

> Y(jw) = H(jo)X(jo)= e " X(jo).

> y(1) = x(t — to).

1/1/2021

22



Qg 9lo ) 49399 oo olg>

:Jbo

© (T}

¥(t) = d%” . Y(jo) = joX(jo).
|:> H(jw) = jw.
A g olo ) 4399 Joowd (olgs
:Jbo
® (t)
PN (o Y
y(t) = |, x(7)dr. |:> H(jw) = ;la + 78 (w).

= Y(jw) = H(jo)X(jw) = jiwxuw) + X (ja)5(w)

= _ix(jw) + mX(0)é(w),
Jw

1/1/2021

23



Qg 9lo ) 49399 oo olg>

:Jbe
X(L-[ r(t) ]_y(t.) J

L[ 1 e <. _ sinw.t
H(Jw)—{o 0] > o, > k() = —,

H(jw)

Qg 9lo ) 49399 oo olg>

l + >
r(t) = s(Op(t) «— R(w) = ZJ S(jO)P(j(w— 6))d6

1/1/2021

24



Qg 9lo ) 49399 oo olg>

(o) :Jbo

—wyq w4 [0

p(t) = coswpt. T P(jw) = 78w — wp) + wd(w + w),

aF
g

™ P(jw)

|

—wy

r(t) = sOp(H) T Rio) = 5= 18(o) - Plo)

I
= 250w — wo)) + 3S(@ + o))

R{o) = 5 [S(o) * Pjo)

) o Y

(—wg — wqg) (—wg+ wy) (wg — @)  (wg+ wq)

1/1/2021

25



Qg glo ) 4 509 oo olg>

Section Property Aperiodic signal Fourier transform
x(t) X(jw)
¥ Y(jw)
4.3.1 Linearity ax(t) + by(n) aX(jw) + bY(jw)
432 Time Shifting x(r — tg) e X (jw)
436 Frequency Shifting e x(t) X(jlw — wy))
433 Conjugation x'(f) X'(—jw)
43.5 Time Reversal x(—=1) X(~ jow)
435 Time and Frequency x(at) LEX (ie )
Scaling la i
4.4 Convolution x(1) * y(1) X(jw)Y(jw)
45 Multiplication x(0)y(r) ﬁrxge)yu(m - §)dé
434 Differentiation in Time g—rx(r) joX(jw)
434 Integration J x(ndt ;,:‘—’X(jw) + mX(0)8(w)
4.3.6 Differentiation in tx(1) ji X(jw)
dw
Frequency
* * pe * *
Qwgn Gloj 4599 Jvwd olg>
X(jow) = X'(— jw)
Re{X(jw)} = Re{X (- jw)}
433 Conjugate Symmetry x(1) real Im{X(jw)} = =Im{X(~ jw)}
for Real Signals X(jw)| = X(— jw)|
IX(jw) = —<X(— jw)
433 Symmetry for Realand  x(¢) real and even X(jw) real and even
Even Signals
433 Symmetry for Realand  x(r) real and odd X(jw) purely imaginary and odd
Odd Signals
(N = Evi{x(t ; 1 Re{X(j
433 Even-Odd Decompo- = 2} [x(hreall — QelX(jw))
sition for Real Sig- x,(1) = 0dix(n} [x()real] jIm{X(jw)}
nals
437 Parseval’s Relation for Aperiodic Signals

4

j [x(n)*dt = J-J 1IX(jw)Fdw

2w |

1/1/2021

26



TABLE 4.2 BASIC FOURIER TRANSFORM PAIRS
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